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тр
и
та
ки
х,
из
ко
то
ры
х
м
ож
но

бу
де
т
со
ст
ав
ит
ь
тр
еу
го
ль
ни
к.

5



Л
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к

3.
П
ос
тр
ое
ни
я
ци
ру
ле
м
и
ли
не
йк
ой

Д
ля

по
ст
ро
ен
ий

м
ож
но
по
ль
зо
ва
ть
ся
ли
не
йк
ой
бе
з
де
ле
ни
й
и
ци
рк
ул
ем

.
1
П
ос
тр
ой
те
тр
еу
го
ль
ни
к:
а)
по
дв
ум

ст
ор
он
ам

и
уг
лу
м
еж
ду
ни
м
и;
б)
по
дв
ум

ст
ор
он
ам

и
уг
лу

,
ле
ж
ащ
ем
у
пр
от
ив

од
но
й
из

эт
их

ст
ор
он

.
С
ко
ль
ко

ра
зл
ич
ны
х

тр
еу
го
ль
ни
ко
в
м
ож
ет
по
лу
чи
ть
ся

?
2
П
ос
тр
ой
те
пр
ям
оу
го
ль
ны
й
тр
еу
го
ль
ни
к:
а)
по
дв
ум

ка
те
та
м

;
б)
по
ка
те
ту
и
ги
по
те
ну
зе

;в
)
по
ка
те
ту
и
пр
ил
еж
ащ
ем
у
ос
тр
ом
у
уг
лу

;
г)
по
ка
те
ту
и
пр
от
ив
ол
еж
ащ
ем
у
ос
тр
ом
у
уг
лу

.
3
П
ос
тр
ой
те
тр
еу
го
ль
ни
к:

а)
по
дв
ум

ст
ор
он
ам

и
м
ед
иа
не

,п
ро
ве
дё
нн
ой
к
пе
рв
ой
ст
ор
он
е;

б)
по
дв
ум

ст
ор
он
ам

и
вы
со
те

,о
пу
щ
ен
но
й
на
тр
ет
ью

ст
ор
он
у;

в)
по
ст
ор
он
е
и
оп
ущ
ен
ны
м
на
не
ё
вы
со
те
и
м
ед
иа
не

.
4
а)

Д
ан
ы
дв
е
то
чк
и
A
и
B
и
пр
ям
ая

a
,
не

пр
ох
од
ящ
ая

че
ре
з
эт
и
то
чк
и.
Н
а

пр
ям
ой

a
по
ст
ро
йт
е
то
чк
у,
ра
вн
оу
да
лё
нн
ую

от
то
че
к
A
и
B

.
В
се
гд
а
ли

та
ка
я

то
чк
а
су
щ
ес
тв
уе
т?

б)
П
ос
тр
ой
те
то
чк
у,
ле
ж
ащ
ую

на
да
нн
ой
ок
ру
ж
но
ст
и
и
ра
вн
оу
да
лё
нн
ую

от
ко
нц
ов

да
нн
ог
о
от
ре
зк
а.
С
ко
ль
ко
ра
зл
ич
ны
х
то
че
к
м
ож
ет
по
лу
чи
ть
ся

?
П
од
ск
аз
ка

:
ис
по
ль
зу
йт
е
св
ой
ст
во
се
ре
ди
нн
ог
о
пе
рп
ен
ди
ку
ля
ра
к
от
ре
зк
у.

5
П
ос
тр
ой
те

тр
еу
го
ль
ни
к
по

ст
ор
он
е,
пр
ил
еж
ащ
ем
у
уг
лу

и
су
м
м
е
дл
ин

дв
ух

др
уг
их
ст
ор
он

.
6
а)

П
ос
тр
ой
те
ок
ру
ж
но
ст
ь,
пр
ох
од
ящ
ую

че
ре
з
тр
и
да
нн
ы
е
то
чк
и.
В
се
гд
а
ли

та
ка
я
ок
ру
ж
но
ст
ь
су
щ
ес
тв
уе
т?
б)

П
ос
тр
ой
те
тр
еу
го
ль
ни
к
по

дв
ум

ст
ор
он
ам

и
ра
ди
ус
у
оп
ис
ан
но
й
ок
ру
ж
но
ст
и.

(О
пи
са
нн
ая
ок
ру
ж
но
ст
ь

—
эт
о
ок
ру
ж
но
ст
ь,
пр
о-

хо
дя
щ
ая
че
ре
з
вс
е
ве
рш
ин
ы
тр
еу
го
ль
ни
ка

.)
7
а)
Д
ок
аж
ит
е,
чт
о
ги
по
те
ну
за
пр
ям
оу
го
ль
но
го
тр
еу
го
ль
ни
ка
яв
ля
ет
ся
ди
ам
ет

-
ро
м
оп
ис
ан
но
й
ок
ол
о
не
го
ок
ру
ж
но
ст
и.
П
од
ск
аз
ка

:
до
ст
ро
йт
е
т
ре
уг
ол
ьн
ик

до
пр
ям
оу
го
ль
ни
ка
ли
бо
во
сп
ол
ьз
уй
т
ес
ь
за
да
че
й

20
.6
а)

.
П
ос
тр
ой
те
пр
ям
оу
го
ль
ны
й
тр
еу
го
ль
ни
к:
б)

по
ги
по
те
ну
зе
и
ос
тр
ом
у
уг
лу

;в
)
по

ги
по
те
ну
зе
и
вы
со
те

,о
пу
щ
ен
но
й
на
не
ё.

8
П
ос
тр
ой
те
пр
ям
оу
го
ль
ны
й
тр
еу
го
ль
ни
к
по

ги
по
те
ну
зе
и
су
м
м
е
дв
ух

ка
те
то
в.

С
ко
ль
ко
ра
зл
ич
ны
х
тр
еу
го
ль
ни
ко
в
м
ож
ет
по
лу
чи
ть
ся

?
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Л
ис
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к

3.
П
ос
тр
ое
ни
я
ци
ру
ле
м
и
ли
не
йк
ой

Д
ля

по
ст
ро
ен
ий

м
ож
но
по
ль
зо
ва
ть
ся
ли
не
йк
ой
бе
з
де
ле
ни
й
и
ци
рк
ул
ем

.
1
П
ос
тр
ой
те
тр
еу
го
ль
ни
к:
а)
по
дв
ум

ст
ор
он
ам

и
уг
лу
м
еж
ду
ни
м
и;
б)
по
дв
ум

ст
ор
он
ам

и
уг
лу

,
ле
ж
ащ
ем
у
пр
от
ив

од
но
й
из

эт
их

ст
ор
он

.
С
ко
ль
ко

ра
зл
ич
ны
х

тр
еу
го
ль
ни
ко
в
м
ож
ет
по
лу
чи
ть
ся

?
2
П
ос
тр
ой
те
пр
ям
оу
го
ль
ны
й
тр
еу
го
ль
ни
к:
а)
по
дв
ум

ка
те
та
м

;
б)
по
ка
те
ту
и
ги
по
те
ну
зе

;в
)
по
ка
те
ту
и
пр
ил
еж
ащ
ем
у
ос
тр
ом
у
уг
лу

;
г)
по
ка
те
ту
и
пр
от
ив
ол
еж
ащ
ем
у
ос
тр
ом
у
уг
лу

.
3
П
ос
тр
ой
те
тр
еу
го
ль
ни
к:

а)
по
дв
ум

ст
ор
он
ам

и
м
ед
иа
не

,п
ро
ве
дё
нн
ой
к
пе
рв
ой
ст
ор
он
е;

б)
по
дв
ум

ст
ор
он
ам

и
вы
со
те

,о
пу
щ
ен
но
й
на
тр
ет
ью

ст
ор
он
у;

в)
по
ст
ор
он
е
и
оп
ущ
ен
ны
м
на
не
ё
вы
со
те
и
м
ед
иа
не

.
4
а)

Д
ан
ы
дв
е
то
чк
и
A
и
B
и
пр
ям
ая

a
,
не

пр
ох
од
ящ
ая

че
ре
з
эт
и
то
чк
и.
Н
а

пр
ям
ой

a
по
ст
ро
йт
е
то
чк
у,
ра
вн
оу
да
лё
нн
ую

от
то
че
к
A
и
B

.
В
се
гд
а
ли

та
ка
я

то
чк
а
су
щ
ес
тв
уе
т?

б)
П
ос
тр
ой
те
то
чк
у,
ле
ж
ащ
ую

на
да
нн
ой
ок
ру
ж
но
ст
и
и
ра
вн
оу
да
лё
нн
ую

от
ко
нц
ов

да
нн
ог
о
от
ре
зк
а.
С
ко
ль
ко
ра
зл
ич
ны
х
то
че
к
м
ож
ет
по
лу
чи
ть
ся

?
П
од
ск
аз
ка

:
ис
по
ль
зу
йт
е
св
ой
ст
во
се
ре
ди
нн
ог
о
пе
рп
ен
ди
ку
ля
ра
к
от
ре
зк
у.

5
П
ос
тр
ой
те

тр
еу
го
ль
ни
к
по

ст
ор
он
е,
пр
ил
еж
ащ
ем
у
уг
лу

и
су
м
м
е
дл
ин

дв
ух

др
уг
их
ст
ор
он

.
6
а)

П
ос
тр
ой
те
ок
ру
ж
но
ст
ь,
пр
ох
од
ящ
ую

че
ре
з
тр
и
да
нн
ы
е
то
чк
и.
В
се
гд
а
ли

та
ка
я
ок
ру
ж
но
ст
ь
су
щ
ес
тв
уе
т?
б)

П
ос
тр
ой
те
тр
еу
го
ль
ни
к
по

дв
ум

ст
ор
он
ам

и
ра
ди
ус
у
оп
ис
ан
но
й
ок
ру
ж
но
ст
и.

(О
пи
са
нн
ая
ок
ру
ж
но
ст
ь

—
эт
о
ок
ру
ж
но
ст
ь,
пр
о-

хо
дя
щ
ая
че
ре
з
вс
е
ве
рш
ин
ы
тр
еу
го
ль
ни
ка

.)
7
а)
Д
ок
аж
ит
е,
чт
о
ги
по
те
ну
за
пр
ям
оу
го
ль
но
го
тр
еу
го
ль
ни
ка
яв
ля
ет
ся
ди
ам
ет

-
ро
м
оп
ис
ан
но
й
ок
ол
о
не
го
ок
ру
ж
но
ст
и.
П
од
ск
аз
ка

:
до
ст
ро
йт
е
т
ре
уг
ол
ьн
ик

до
пр
ям
оу
го
ль
ни
ка
ли
бо
во
сп
ол
ьз
уй
т
ес
ь
за
да
че
й

20
.6
а)

.
П
ос
тр
ой
те
пр
ям
оу
го
ль
ны
й
тр
еу
го
ль
ни
к:
б)

по
ги
по
те
ну
зе
и
ос
тр
ом
у
уг
лу

;в
)
по

ги
по
те
ну
зе
и
вы
со
те

,о
пу
щ
ен
но
й
на
не
ё.

8
П
ос
тр
ой
те
пр
ям
оу
го
ль
ны
й
тр
еу
го
ль
ни
к
по

ги
по
те
ну
зе
и
су
м
м
е
дв
ух

ка
те
то
в.

С
ко
ль
ко
ра
зл
ич
ны
х
тр
еу
го
ль
ни
ко
в
м
ож
ет
по
лу
чи
ть
ся

?
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4.
С
ре
дн
яя

ли
ни
я
тр
еу
го
ль
ни
ка

О
пр
ед
ел
ен
ие

.
С
ре
дн
яя
ли
ни
я
т
ре
уг
ол
ьн
ик
а

—
эт
о
от
ре
зо
к,
со
ед
ин
яю
щ
ий

се
ре

-
ди
ны

дв
ух
ег
о
ст
ор
он

.

Т
ео
ре
м
а

(с
во
йс
тв
а
ср
ед
не
й
ли
ни
и
тр
еу
го
ль
ни
ка

).
С
ре
дн
яя
ли
ни
я
т
ре
уг
ол
ьн
ик
а

па
ра
лл
ел
ьн
а
од
но
й
из
ег
о
ст
ор
он
и
ра
вн
а
по
ло
ви
не
эт
ой
ст
ор
он
ы
.

1
В
тр
еу
го
ль
ни
ке
пр
ов
ел
и
тр
и
ср
ед
ни
е
ли
ни
и.

а)
Д
ок
аж
ит
е,
чт
о
он
и
ра
зб
ив
аю
т
ег
о
на
че
ты
ре
ра
вн
ы
х
тр
еу
го
ль
ни
ка

.
б)

Н
ай
ди
те

пе
ри
м
ет
р
ка
ж
до
го

из
ни
х,
ес
ли

пе
ри
м
ет
р
ис
хо
дн
ог
о
тр
еу
го
ль
ни
ка

ра
ве
н

28
.

2
Д
ли
ны

дв
ух
ст
ор
он
тр
еу
го
ль
ни
ка
ра
вн
ы

a
и
b.
Ч
ер
ез
се
ре
ди
ну

тр
ет
ье
й
ст
ор
о-

ны
пр
ов
ед
ен
ы
пр
ям
ы
е,
па
ра
лл
ел
ьн
ы
е
дв
ум

др
уг
им

ст
ор
он
ам

.Н
ай
ди
те
пе
ри
м
ет
р

об
ра
зо
ва
вш
ег
ос
я
пр
и
эт
ом

че
ты
рё
ху
го
ль
ни
ка

.
3
С
ре
дн
яя
ли
ни
я,
па
ра
лл
ел
ьн
ая
ст
ор
он
е
A
C
тр
еу
го
ль
ни
ка

A
B
C
,
ра
вн
а
по
ло
ви
не

ст
ор
он
ы

A
B
.
Д
ок
аж
ит
е,
чт
о
тр
еу
го
ль
ни
к
A
B
C
ра
вн
об
ед
ре
нн
ы
й.

4
С
по
м
ощ
ью

ци
рк
ул
я
и
ли
не
йк
и
по
ст
ро
йт
е
тр
еу
го
ль
ни
к,
ес
ли

да
ны

се
ре
ди
ны

тр
ёх
ег
о
ст
ор
он

.
5
То
чк
и
M
и
N
ра
сп
ол
ож
ен
ы
со
от
ве
тс
тв
ен
но
на
ст
ор
он
ах

A
B
и
A
C
тр
еу
го
ль
ни
ка

A
B
C
,
пр
ич
ём

B
M

=
3A

M
и
C
N

=
3A

N
.
а)
Д
ок
аж
ит
е,
чт
о
M

N
||B

C
.
б)
Н
ай
ди
те

M
N
,
ес
ли

B
C

=
12
.

6
а)

Д
ок
аж
ит
е,
чт
о
се
ре
ди
ны

ст
ор
он

лю
бо
го
че
ты
рё
ху
го
ль
ни
ка

яв
ля
ю
тс
я
ве
р-

ш
ин
ам
и
па
ра
лл
ел
ог
ра
м
м
а.
б)

Д
ок
аж
ит
е,
чт
о
се
ре
ди
ны

дв
ух

пр
от
ив
оп
ол
ож
ны
х

ст
ор
он
лю
бо
го
че
ты
рё
ху
го
ль
ни
ка
и
се
ре
ди
ны

ег
о
ди
аг
он
ал
ей
яв
ля
ю
тс
я
ве
рш
ин
а-

м
и
па
ра
лл
ел
ог
ра
м
м
а.

7
О
тр
ез
ки

,с
ое
ди
ня
ю
щ
ие
се
ре
ди
ны

пр
от
ив
оп
ол
ож
ны
х
ст
ор
он
че
ты
рё
ху
го
ль
ни
ка

,
ра
вн
ы

.Д
ок
аж
ит
е,
чт
о
ег
о
ди
аг
он
ал
и
пе
рп
ен
ди
ку
ля
рн
ы

.
8
а)

О
дн
а
из

ст
ор
он

тр
еу
го
ль
ни
ка

ра
вн
а
a
.
Н
ай
ди
те
дл
ин
у
от
ре
зк
а,
со
ед
ин
я-

ю
щ
ег
о
се
ре
ди
ны

м
ед
иа
н,
пр
ов
ед
ён
ны
х
к
дв
ум

др
уг
им

ст
ор
он
ам

.
б)

Д
ок
аж
ит
е,

чт
о
от
ре
зо
к,
со
ед
ин
яю
щ
ий

се
ре
ди
ны

ди
аг
он
ал
ей

тр
ап
ец
ии

,
ра
ве
н
по
лу
ра
зн
ос
ти

её
ос
но
ва
ни
й.
в)

Д
ок
аж
ит
е,
чт
о
ср
ед
ня
я
ли
ни
я
тр
ап
ец
ии

(т
о
ес
ть

от
ре
зо
к,
со

-
ед
ин
яю
щ
ий

се
ре
ди
ны

её
бо
ко
вы
х
ст
ор
он

)
па
ра
лл
ел
ьн
а
её
ос
но
ва
ни
ям

и
ра
вн
а
их

по
лу
су
м
м
е.

9
С
по
м
ощ
ью

ци
рк
ул
я
и
ли
не
йк
и
по
ст
ро
йт
е
пя
ти
уг
ол
ьн
ик

,е
сл
и
да
ны

се
ре
ди
ны

вс
ех
ег
о
ст
ор
он

.
П
од
ск
аз
ка

:
во
сп
ол
ьз
уй
те
сь
за
да
че
й

6.
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4.
С
ре
дн
яя

ли
ни
я
тр
еу
го
ль
ни
ка

О
пр
ед
ел
ен
ие

.
С
ре
дн
яя
ли
ни
я
т
ре
уг
ол
ьн
ик
а

—
эт
о
от
ре
зо
к,
со
ед
ин
яю
щ
ий

се
ре

-
ди
ны

дв
ух
ег
о
ст
ор
он

.

Т
ео
ре
м
а

(с
во
йс
тв
а
ср
ед
не
й
ли
ни
и
тр
еу
го
ль
ни
ка
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С
ре
дн
яя
ли
ни
я
т
ре
уг
ол
ьн
ик
а

па
ра
лл
ел
ьн
а
од
но
й
из
ег
о
ст
ор
он
и
ра
вн
а
по
ло
ви
не
эт
ой
ст
ор
он
ы
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1
В
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еу
го
ль
ни
ке
пр
ов
ел
и
тр
и
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ед
ни
е
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ок
аж
ит
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чт
о
он
и
ра
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ив
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т
ег
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на
че
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ра
вн
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ль
ни
ка
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Н
ай
ди
те
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ет
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ж
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го

из
ни
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ес
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ис
хо
дн
ог
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го
ль
ни
ка

ра
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н
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Д
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ну

тр
ет
ье
й
ст
ор
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ы
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уг
им
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ам
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те
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м
ет
р

об
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ва
вш
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ос
я
пр
и
эт
ом

че
ты
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ху
го
ль
ни
ка

.
3
С
ре
дн
яя
ли
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я,
па
ра
лл
ел
ьн
ая
ст
ор
он
е
A
C
тр
еу
го
ль
ни
ка

A
B
C
,
ра
вн
а
по
ло
ви
не

ст
ор
он
ы

A
B
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Д
ок
аж
ит
е,
чт
о
тр
еу
го
ль
ни
к
A
B
C
ра
вн
об
ед
ре
нн
ы
й.

4
С
по
м
ощ
ью

ци
рк
ул
я
и
ли
не
йк
и
по
ст
ро
йт
е
тр
еу
го
ль
ни
к,
ес
ли

да
ны

се
ре
ди
ны

тр
ёх
ег
о
ст
ор
он

.
5
То
чк
и
M
и
N
ра
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ож
ен
ы
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от
ве
тс
тв
ен
но
на
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ор
он
ах

A
B
и
A
C
тр
еу
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ль
ни
ка

A
B
C
,
пр
ич
ём

B
M

=
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=
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N
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Д
ок
аж
ит
е,
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.
б)
Н
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те

M
N
,
ес
ли

B
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=
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Д
ок
аж
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ны

ст
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он
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ни
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яв
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ю
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я
ве
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ш
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ам
и
па
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а.
б)

Д
ок
аж
ит
е,
чт
о
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ны

дв
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пр
от
ив
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х
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ор
он
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бо
го
че
ты
рё
ху
го
ль
ни
ка
и
се
ре
ди
ны

ег
о
ди
аг
он
ал
ей
яв
ля
ю
тс
я
ве
рш
ин
а-

м
и
па
ра
лл
ел
ог
ра
м
м
а.

7
О
тр
ез
ки

,с
ое
ди
ня
ю
щ
ие
се
ре
ди
ны

пр
от
ив
оп
ол
ож
ны
х
ст
ор
он
че
ты
рё
ху
го
ль
ни
ка

,
ра
вн
ы

.Д
ок
аж
ит
е,
чт
о
ег
о
ди
аг
он
ал
и
пе
рп
ен
ди
ку
ля
рн
ы

.
8
а)

О
дн
а
из

ст
ор
он

тр
еу
го
ль
ни
ка

ра
вн
а
a
.
Н
ай
ди
те
дл
ин
у
от
ре
зк
а,
со
ед
ин
я-

ю
щ
ег
о
се
ре
ди
ны

м
ед
иа
н,
пр
ов
ед
ён
ны
х
к
дв
ум

др
уг
им

ст
ор
он
ам

.
б)

Д
ок
аж
ит
е,

чт
о
от
ре
зо
к,
со
ед
ин
яю
щ
ий

се
ре
ди
ны

ди
аг
он
ал
ей

тр
ап
ец
ии

,
ра
ве
н
по
лу
ра
зн
ос
ти

её
ос
но
ва
ни
й.
в)

Д
ок
аж
ит
е,
чт
о
ср
ед
ня
я
ли
ни
я
тр
ап
ец
ии

(т
о
ес
ть

от
ре
зо
к,
со

-
ед
ин
яю
щ
ий

се
ре
ди
ны

её
бо
ко
вы
х
ст
ор
он

)
па
ра
лл
ел
ьн
а
её
ос
но
ва
ни
ям

и
ра
вн
а
их

по
лу
су
м
м
е.

9
С
по
м
ощ
ью

ци
рк
ул
я
и
ли
не
йк
и
по
ст
ро
йт
е
пя
ти
уг
ол
ьн
ик

,е
сл
и
да
ны

се
ре
ди
ны

вс
ех
ег
о
ст
ор
он

.
П
од
ск
аз
ка

:
во
сп
ол
ьз
уй
те
сь
за
да
че
й

6.

7



Л
ис
то
к

5.
П
ос
тр
ое
ни
е
от
ре
зк
ов

Д
ля
ре
ш
ен
ия
за
да
ч
се
го
дн
яш
не
го
за
ня
ти
я
ва
м
м
ог
ут
пр
иг
од
ит
ьс
я
сл
ед
ую
щ
ие
ф
ак

-
ты

. 1.
Т
ео
ре
м
а
Ф
ал

éс
а.
П
ус
ть
то
чк
и
A

1
,A

2
,.
..
,A

n
ле
ж
ат
на

пр
ям
ой

a
,
а
то
чк
и

B
1
,B

2
,.
..
,B

n
—
на
пр
ям
ой

b,
пр
ич
ём

A
1
B

1
||A

2
B

2
||A

3
B

3
||.

..
||A

n
B

n
и
A

1
A

2
=

A
2
A

3
=

..
.
=

A
n
−
1
A

n
.Т
ог
да

B
1
B

2
=

B
2
B

3
=

..
.
=

B
n
−
1
B

n
.

2.
Т
ео
ре
м
а
П
иф
аг
ор
а.
В
пр
ям
оу
го
ль
но
м
тр
еу
го
ль
ни
ке

с
ка
те
та
м
и
a
и
b
и

ги
по
те
ну
зо
й
c
им
ее
т
м
ес
то
ра
ве
нс
тв
о
a
2
+
b2

=
c2
.

3.
Е
сл
и
в
пр
ям
оу
го
ль
но
м
тр
еу
го
ль
ни
ке
ос
но
ва
ни
е
вы
со
ты

h
,о
пу
щ
ен
но
й
из
ве
р-

ш
ин
ы
пр
ям
ог
о
уг
ла

,д
ел
ит
ги
по
те
ну
зу
на
от
ре
зк
и
a
c
и
b c
,
то

h
2
=

a
c
·b

c.

1
Д
ан
от
ре
зо
к
дл
ин
ы

1.
С
по
м
ощ
ью

ци
рк
ул
я
и
ли
не
йк
и
по
ст
ро
йт
е
от
ре
зк
и
дл
ин
ы

:
а)

1 2
;
б)

1 4
;
в)

1 5
;
г)

4 5
;
д)

1 n
;
е)

m n
(m

,n
—
на
ту
ра
ль
ны
е
чи
сл
а)

.
П
од
ск
аз
ка

:в
ос
по
ль
зу
йт
ес
ь
те
ор
ем
ой
Ф
ал
ес
а.

2
Д
ан
от
ре
зо
к
дл
ин
ы

1.
С
по
м
ощ
ью

ци
рк
ул
я
и
ли
не
йк
и
по
ст
ро
йт
е
от
ре
зк
и
дл
ин
ы

:
а)

√
2;
б)

√
5;
в)

√
8;
г)

√
13
;
д)

√
17
.

П
од
ск
аз
ка

:в
ос
по
ль
зу
йт
ес
ь
те
ор
ем
ой
П
иф
аг
ор
а.

3
Д
ан
от
ре
зо
к
дл
ин
ы

1.
С
по
м
ощ
ью

ци
рк
ул
я,
ли
не
йк
и
и
ре
зу
ль
та
то
в
пр
ед
ы
ду
щ
ей

за
да
чи

по
ст
ро
йт
е
от
ре
зк
и
дл
ин
ы

:а
)
√
3;
б)

√
6;
в)

√
7;
г)

√
14
.

4
а)
Д
ан
ы
от
ре
зк
и
дл
ин
ы

1
и
√
k

(k
—
на
ту
ра
ль
но
е
чи
сл
о)

.С
по
м
ощ
ью

ци
рк
ул
я

и
ли
не
йк
и
по
ст
ро
йт
е
от
ре
зо
к
дл
ин
ы

√
k
+
1.

б)
Д
ок
аж
ит
е,
чт
о,
им
ея
от
ре
зо
к
дл
ин
ы

1,
м
ож
но
с
по
м
ощ
ью

ци
рк
ул
я
и
ли
не
йк
и

по
ст
ро
ит
ь
от
ре
зо
к
дл
ин
ы

√
n
дл
я
лю
бо
го
на
ту
ра
ль
но
го

n
.

5
Д
ан

от
ре
зо
к
дл
ин
ы

1
и
на
ту
ра
ль
ны
е
чи
сл
а
m
и
n
.
С
по
м
ощ
ью

ци
рк
ул
я
и

ли
не
йк
и
по
ст
ро
йт
е
от
ре
зо
к
дл
ин
ы

�
m n
.

П
од
ск
аз
ка

:в
ос
по
ль
зу
йт
ес
ь
за
да
ча
м
и

1
и

4.

6
а)
П
ос
тр
ой
те
пр
ям
оу
го
ль
ны
й
тр
еу
го
ль
ни
к
по
ги
по
те
ну
зе
и
вы
со
те

,о
пу
щ
ен
но
й

на
ги
по
те
ну
зу

.
(П
од
ск
аз
ка

:
в
пр
ям
оу
го
ль
но
м
тр
еу
го
ль
ни
ке
м
ед
иа
на

,
пр
ов
ед
ён
на
я
к
ги
по
те
ну
зе

,
ра
вн
а

по
ло
ви
не
ги
по
те
ну
зы

.)
б)

Д
ан
ы
от
ре
зк
и
дл
ин
ы

a
и
b.
С
по
м
ощ
ью

ци
рк
ул
я
и
ли
не
йк
и

по
ст
ро
йт
е
от
ре
зо
к
дл
ин
ы

√
a
b.

7
Д
ан
от
ре
зо
к
дл
ин
ы

1.
С
по
м
ощ
ью

ци
рк
ул
я,
ли
не
йк
и
и
ре
зу
ль
та
то
в
пр
ед
ы
ду
щ
ей

за
да
чи

по
ст
ро
йт
е
от
ре
зк
и
дл
ин
ы

:а
)
√
6;
б)

�
1 6
.

8
Д
ан
ы
от
ре
зк
и
дл
ин
ы
a
,b
,c

.С
по
м
ощ
ью

ци
рк
ул
я
и
ли
не
йк
и
по
ст
ро
йт
е
от
ре
зо
к

дл
ин
ы

a
b c
.
П
од
ск
аз
ка

:в
ос
по
ль
зу
йт
ес
ь
по
до
бн
ы
м
и
тр
еу
го
ль
ни
ка
м
и.

8

Л
ис
то
к

5.
П
ос
тр
ое
ни
е
от
ре
зк
ов

Д
ля
ре
ш
ен
ия
за
да
ч
се
го
дн
яш
не
го
за
ня
ти
я
ва
м
м
ог
ут
пр
иг
од
ит
ьс
я
сл
ед
ую
щ
ие
ф
ак

-
ты

. 1.
Т
ео
ре
м
а
Ф
ал

éс
а.
П
ус
ть
то
чк
и
A

1
,A

2
,.
..
,A

n
ле
ж
ат
на

пр
ям
ой

a
,
а
то
чк
и

B
1
,B

2
,.
..
,B

n
—
на
пр
ям
ой

b,
пр
ич
ём

A
1
B

1
||A

2
B

2
||A

3
B

3
||.

..
||A

n
B

n
и
A

1
A

2
=

A
2
A

3
=

..
.
=

A
n
−
1
A

n
.Т
ог
да

B
1
B

2
=

B
2
B

3
=

..
.
=

B
n
−
1
B

n
.

2.
Т
ео
ре
м
а
П
иф
аг
ор
а.
В
пр
ям
оу
го
ль
но
м
тр
еу
го
ль
ни
ке

с
ка
те
та
м
и
a
и
b
и

ги
по
те
ну
зо
й
c
им
ее
т
м
ес
то
ра
ве
нс
тв
о
a
2
+
b2

=
c2
.

3.
Е
сл
и
в
пр
ям
оу
го
ль
но
м
тр
еу
го
ль
ни
ке
ос
но
ва
ни
е
вы
со
ты

h
,о
пу
щ
ен
но
й
из
ве
р-

ш
ин
ы
пр
ям
ог
о
уг
ла

,д
ел
ит
ги
по
те
ну
зу
на
от
ре
зк
и
a
c
и
b c
,
то

h
2
=

a
c
·b

c.

1
Д
ан
от
ре
зо
к
дл
ин
ы

1.
С
по
м
ощ
ью

ци
рк
ул
я
и
ли
не
йк
и
по
ст
ро
йт
е
от
ре
зк
и
дл
ин
ы

:
а)

1 2
;
б)

1 4
;
в)

1 5
;
г)

4 5
;
д)

1 n
;
е)

m n
(m

,n
—
на
ту
ра
ль
ны
е
чи
сл
а)

.
П
од
ск
аз
ка

:в
ос
по
ль
зу
йт
ес
ь
те
ор
ем
ой
Ф
ал
ес
а.

2
Д
ан
от
ре
зо
к
дл
ин
ы

1.
С
по
м
ощ
ью

ци
рк
ул
я
и
ли
не
йк
и
по
ст
ро
йт
е
от
ре
зк
и
дл
ин
ы

:
а)

√
2;
б)

√
5;
в)

√
8;
г)

√
13
;
д)

√
17
.

П
од
ск
аз
ка

:в
ос
по
ль
зу
йт
ес
ь
те
ор
ем
ой
П
иф
аг
ор
а.

3
Д
ан
от
ре
зо
к
дл
ин
ы

1.
С
по
м
ощ
ью

ци
рк
ул
я,
ли
не
йк
и
и
ре
зу
ль
та
то
в
пр
ед
ы
ду
щ
ей

за
да
чи

по
ст
ро
йт
е
от
ре
зк
и
дл
ин
ы

:а
)
√
3;
б)

√
6;
в)

√
7;
г)

√
14
.

4
а)
Д
ан
ы
от
ре
зк
и
дл
ин
ы

1
и
√
k

(k
—
на
ту
ра
ль
но
е
чи
сл
о)

.С
по
м
ощ
ью

ци
рк
ул
я

и
ли
не
йк
и
по
ст
ро
йт
е
от
ре
зо
к
дл
ин
ы

√
k
+
1.

б)
Д
ок
аж
ит
е,
чт
о,
им
ея
от
ре
зо
к
дл
ин
ы

1,
м
ож
но
с
по
м
ощ
ью

ци
рк
ул
я
и
ли
не
йк
и

по
ст
ро
ит
ь
от
ре
зо
к
дл
ин
ы

√
n
дл
я
лю
бо
го
на
ту
ра
ль
но
го

n
.

5
Д
ан

от
ре
зо
к
дл
ин
ы

1
и
на
ту
ра
ль
ны
е
чи
сл
а
m
и
n
.
С
по
м
ощ
ью

ци
рк
ул
я
и

ли
не
йк
и
по
ст
ро
йт
е
от
ре
зо
к
дл
ин
ы

�
m n
.

П
од
ск
аз
ка

:в
ос
по
ль
зу
йт
ес
ь
за
да
ча
м
и

1
и

4.

6
а)
П
ос
тр
ой
те
пр
ям
оу
го
ль
ны
й
тр
еу
го
ль
ни
к
по
ги
по
те
ну
зе
и
вы
со
те

,о
пу
щ
ен
но
й

на
ги
по
те
ну
зу

.
(П
од
ск
аз
ка

:
в
пр
ям
оу
го
ль
но
м
тр
еу
го
ль
ни
ке
м
ед
иа
на

,
пр
ов
ед
ён
на
я
к
ги
по
те
ну
зе

,
ра
вн
а

по
ло
ви
не
ги
по
те
ну
зы

.)
б)

Д
ан
ы
от
ре
зк
и
дл
ин
ы

a
и
b.
С
по
м
ощ
ью

ци
рк
ул
я
и
ли
не
йк
и

по
ст
ро
йт
е
от
ре
зо
к
дл
ин
ы

√
a
b.

7
Д
ан
от
ре
зо
к
дл
ин
ы

1.
С
по
м
ощ
ью

ци
рк
ул
я,
ли
не
йк
и
и
ре
зу
ль
та
то
в
пр
ед
ы
ду
щ
ей

за
да
чи

по
ст
ро
йт
е
от
ре
зк
и
дл
ин
ы

:а
)
√
6;
б)

�
1 6
.

8
Д
ан
ы
от
ре
зк
и
дл
ин
ы
a
,b
,c

.С
по
м
ощ
ью

ци
рк
ул
я
и
ли
не
йк
и
по
ст
ро
йт
е
от
ре
зо
к

дл
ин
ы

a
b c
.
П
од
ск
аз
ка

:в
ос
по
ль
зу
йт
ес
ь
по
до
бн
ы
м
и
тр
еу
го
ль
ни
ка
м
и.
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Л
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к

6.
П
иф
аг
ор
ов
ы
тр
еу
го
ль
ни
ки

О
пр
ед
ел
ен
ие

.
П
ря
м
оу
го
ль
ны
й
тр
еу
го
ль
ни
к,
дл
ин
ы
вс
ех
ст
ор
он
ко
то
ро
го
вы
ра

-
ж
аю
тс
я
це
лы
м
и
чи
сл
ам
и,
на
зы
ва
ет
ся
пи
фа
го
ро
вы
м
т
ре
уг
ол
ьн
ик
ом

.

О
пр
ед
ел
ен
ие

.
Н
аб
ор
на
ту
ра
ль
ны
х
чи
се
л
(a
,b
,c
)
на
зы
ва
ет
ся
пи
фа
го
ро
во
й
т
ро
й-

ко
й,
ес
ли
он
уд
ов
ле
тв
ор
яе
т
ра
ве
нс
тв
у
a
2
+
b2

=
c2
.
Д
ру
ги
м
и
сл
ов
ам
и,
пи
ф
аг
ор
ов
а

тр
ой
ка

—
эт
о
на
бо
р
дл
ин

ст
ор
он
не
ко
то
ро
го
пи
ф
аг
ор
ов
а
тр
еу
го
ль
ни
ка

.

1
Зн
ая

дл
ин
ы
дв
ух

ст
ор
он

пи
ф
аг
ор
ов
а
тр
еу
го
ль
ни
ка

,
на
йд
ит
е
дл
ин
у
тр
ет
ье
й

ст
ор
он
ы
и
вы
яс
ни
те

,к
ак
ая
из
ст
ор
он
яв
ля
ет
ся
ги
по
те
ну
зо
й:

а)
3
и

5;
б)

24
и

25
;в

)
8
и

15
;г

)
5
и

13
;д

)
9
и

41
.

2
П
ри
ве
ди
те
пр
им
ер
пи
ф
аг
ор
ов
а
тр
еу
го
ль
ни
ка
с
за
да
нн
ой

дл
ин
ой

ги
по
те
ну
зы

:
а)

15
;б

)
39

;в
)

10
0;
г)

28
9.

3
Д
ок
аж
ит
е,
чт
о
пи
ф
аг
ор
ов
ы
х
тр
ое
к
бе
ск
он
еч
но
м
но
го

.
4
а)
С
ущ
ес
тв
ую
т
ли

ра
вн
об
ед
ре
нн
ы
е
пи
ф
аг
ор
ов
ы
тр
еу
го
ль
ни
ки

?
б)
С
ущ
ес
тв
ую
т
ли

пи
ф
аг
ор
ов
ы
тр
еу
го
ль
ни
ки

с
ос
тр
ы
м
уг
ло
м
30

◦ ?
5
М
ож
ет
ли

пи
ф
аг
ор
ов
а
тр
ой
ка
со
ст
оя
ть
из
тр
ёх
не
чё
тн
ы
х
чи
се
л?

6
а)
К
ак
ие
ос
та
тк
и
от
де
ле
ни
я
на

4
м
ог
ут
да
ва
ть
кв
ад
ра
ты

це
лы
х
чи
се
л?

б)
М
ог
ут
ли

об
а
ка
те
та
пи
ф
аг
ор
ов
а
тр
еу
го
ль
ни
ка
им
ет
ь
не
чё
тн
ы
е
дл
ин
ы

?
в)

Д
ок
аж
ит
е,
чт
о
пл
ощ
ад
ь
пи
ф
аг
ор
ов
а
тр
еу
го
ль
ни
ка
вс
ег
да

вы
ра
ж
ае
тс
я
це
лы
м

чи
сл
ом

.
7
В
не
ко
то
ро
м
пи
ф
аг
ор
ов
ом

тр
еу
го
ль
ни
ке

дл
ин
ы
ст
ор
он

—
вз
аи
м
но

пр
ос
ты
е

чи
сл
а

(т
ак
ой
пи
ф
аг
ор
ов
тр
еу
го
ль
ни
к
на
зы
ва
ет
ся
пр
им
ит
ив
ны
м

).
Д
ок
аж
ит
е,
чт
о

дл
ин
а
ги
по
те
ну
зы

не
чё
тн
а,
а
дл
ин
ы
ка
те
то
в

—
ра
зн
ой
чё
тн
ос
ти

.
8
С
ко
ль
ко
су
щ
ес
тв
уе
т
пи
ф
аг
ор
ов
ы
х
тр
еу
го
ль
ни
ко
в,
в
ко
то
ры
х
од
ин

из
ка
те
то
в

ра
ве
н:
а)

7;
б)

15
;в

)
1;
г)

4;
д)

6?
П
од
ск
аз
ка

:
со
ст
ав
ьт
е
и
ре
ш
ит
е
ур
ав
не
ни
е
в
це
лы
х
чи
сл
ах
с
по
м
ощ
ью

т
ео
ре
м
ы

П
иф
аг
ор
а.

9
Д
ок
аж
ит
е,
чт
о
дл
я
лю
бо
го
не
чё
тн
ог
о
чи
сл
а,
кр
ом
е

1,
су
щ
ес
тв
уе
т
пи
ф
аг
ор
ов

тр
еу
го
ль
ни
к,
в
ко
то
ро
м
дл
ин
а
од
но
го
из

ка
те
то
в
ра
вн
а
эт
ом
у
чи
сл
у.
К
ак
ие

из
эт
их
тр
еу
го
ль
ни
ко
в
за
ве
до
м
о
не
по
до
бн
ы
др
уг
др
уг
у?

10
Д
ок
аж
ит
е,
чт
о
су
щ
ес
тв
уе
т
бе
ск
он
еч
но
м
но
го
пи
ф
аг
ор
ов
ы
х
тр
еу
го
ль
ни
ко
в,
не

по
до
бн
ы
х
др
уг
др
уг
у.

11
Д
ок
аж
ит
е,
чт
о
в
пи
ф
аг
ор
ов
ом

тр
еу
го
ль
ни
ке

:
а)

дл
ин
а
од
но
го

из
ка
те
то
в

де
ли
тс
я
на

3;
б)
дл
ин
а
од
но
й
из
тр
ёх
ст
ор
он
де
ли
тс
я
на

5;
в)
пр
ои
зв
ед
ен
ие
дл
ин

ка
те
то
в
де
ли
тс
я
на

12
.

9

Л
ис
то
к

6.
П
иф
аг
ор
ов
ы
тр
еу
го
ль
ни
ки

О
пр
ед
ел
ен
ие

.
П
ря
м
оу
го
ль
ны
й
тр
еу
го
ль
ни
к,
дл
ин
ы
вс
ех
ст
ор
он
ко
то
ро
го
вы
ра

-
ж
аю
тс
я
це
лы
м
и
чи
сл
ам
и,
на
зы
ва
ет
ся
пи
фа
го
ро
вы
м
т
ре
уг
ол
ьн
ик
ом

.

О
пр
ед
ел
ен
ие

.
Н
аб
ор
на
ту
ра
ль
ны
х
чи
се
л
(a
,b
,c
)
на
зы
ва
ет
ся
пи
фа
го
ро
во
й
т
ро
й-

ко
й,
ес
ли
он
уд
ов
ле
тв
ор
яе
т
ра
ве
нс
тв
у
a
2
+
b2

=
c2
.
Д
ру
ги
м
и
сл
ов
ам
и,
пи
ф
аг
ор
ов
а

тр
ой
ка

—
эт
о
на
бо
р
дл
ин

ст
ор
он
не
ко
то
ро
го
пи
ф
аг
ор
ов
а
тр
еу
го
ль
ни
ка

.

1
Зн
ая

дл
ин
ы
дв
ух

ст
ор
он

пи
ф
аг
ор
ов
а
тр
еу
го
ль
ни
ка

,
на
йд
ит
е
дл
ин
у
тр
ет
ье
й

ст
ор
он
ы
и
вы
яс
ни
те

,к
ак
ая
из
ст
ор
он
яв
ля
ет
ся
ги
по
те
ну
зо
й:

а)
3
и

5;
б)

24
и

25
;в

)
8
и

15
;г

)
5
и

13
;д

)
9
и

41
.

2
П
ри
ве
ди
те
пр
им
ер
пи
ф
аг
ор
ов
а
тр
еу
го
ль
ни
ка
с
за
да
нн
ой

дл
ин
ой

ги
по
те
ну
зы

:
а)

15
;б

)
39

;в
)

10
0;
г)

28
9.

3
Д
ок
аж
ит
е,
чт
о
пи
ф
аг
ор
ов
ы
х
тр
ое
к
бе
ск
он
еч
но
м
но
го

.
4
а)
С
ущ
ес
тв
ую
т
ли

ра
вн
об
ед
ре
нн
ы
е
пи
ф
аг
ор
ов
ы
тр
еу
го
ль
ни
ки

?
б)
С
ущ
ес
тв
ую
т
ли

пи
ф
аг
ор
ов
ы
тр
еу
го
ль
ни
ки

с
ос
тр
ы
м
уг
ло
м
30

◦ ?
5
М
ож
ет
ли

пи
ф
аг
ор
ов
а
тр
ой
ка
со
ст
оя
ть
из
тр
ёх
не
чё
тн
ы
х
чи
се
л?

6
а)
К
ак
ие
ос
та
тк
и
от
де
ле
ни
я
на

4
м
ог
ут
да
ва
ть
кв
ад
ра
ты

це
лы
х
чи
се
л?

б)
М
ог
ут
ли

об
а
ка
те
та
пи
ф
аг
ор
ов
а
тр
еу
го
ль
ни
ка
им
ет
ь
не
чё
тн
ы
е
дл
ин
ы

?
в)

Д
ок
аж
ит
е,
чт
о
пл
ощ
ад
ь
пи
ф
аг
ор
ов
а
тр
еу
го
ль
ни
ка
вс
ег
да

вы
ра
ж
ае
тс
я
це
лы
м

чи
сл
ом

.
7
В
не
ко
то
ро
м
пи
ф
аг
ор
ов
ом

тр
еу
го
ль
ни
ке

дл
ин
ы
ст
ор
он

—
вз
аи
м
но

пр
ос
ты
е

чи
сл
а

(т
ак
ой
пи
ф
аг
ор
ов
тр
еу
го
ль
ни
к
на
зы
ва
ет
ся
пр
им
ит
ив
ны
м

).
Д
ок
аж
ит
е,
чт
о

дл
ин
а
ги
по
те
ну
зы

не
чё
тн
а,
а
дл
ин
ы
ка
те
то
в

—
ра
зн
ой
чё
тн
ос
ти

.
8
С
ко
ль
ко
су
щ
ес
тв
уе
т
пи
ф
аг
ор
ов
ы
х
тр
еу
го
ль
ни
ко
в,
в
ко
то
ры
х
од
ин

из
ка
те
то
в

ра
ве
н:
а)

7;
б)

15
;в

)
1;
г)

4;
д)

6?
П
од
ск
аз
ка

:
со
ст
ав
ьт
е
и
ре
ш
ит
е
ур
ав
не
ни
е
в
це
лы
х
чи
сл
ах
с
по
м
ощ
ью

т
ео
ре
м
ы

П
иф
аг
ор
а.

9
Д
ок
аж
ит
е,
чт
о
дл
я
лю
бо
го
не
чё
тн
ог
о
чи
сл
а,
кр
ом
е

1,
су
щ
ес
тв
уе
т
пи
ф
аг
ор
ов

тр
еу
го
ль
ни
к,
в
ко
то
ро
м
дл
ин
а
од
но
го
из

ка
те
то
в
ра
вн
а
эт
ом
у
чи
сл
у.
К
ак
ие

из
эт
их
тр
еу
го
ль
ни
ко
в
за
ве
до
м
о
не
по
до
бн
ы
др
уг
др
уг
у?

10
Д
ок
аж
ит
е,
чт
о
су
щ
ес
тв
уе
т
бе
ск
он
еч
но
м
но
го
пи
ф
аг
ор
ов
ы
х
тр
еу
го
ль
ни
ко
в,
не

по
до
бн
ы
х
др
уг
др
уг
у.

11
Д
ок
аж
ит
е,
чт
о
в
пи
ф
аг
ор
ов
ом

тр
еу
го
ль
ни
ке

:
а)

дл
ин
а
од
но
го

из
ка
те
то
в

де
ли
тс
я
на

3;
б)
дл
ин
а
од
но
й
из
тр
ёх
ст
ор
он
де
ли
тс
я
на

5;
в)
пр
ои
зв
ед
ен
ие
дл
ин

ка
те
то
в
де
ли
тс
я
на

12
.
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Л
ис
то
к

7.
Р
ав
ны
е
пл
ощ
ад
и

1
В
тр
ап
ец
ии

с
ос
но
ва
ни
ям
и
B
C
и
A
D
ди
аг
он
ал
и
пе
ре
се
ка
ю
тс
я
в
то
чк
е
O
.
Д
о-

ка
ж
ит
е,
чт
о:
а)

S
(Δ

A
B
C
)
=

S
(Δ

B
C
D
);
б)

S
(Δ

A
O
B
)
=

S
(Δ

C
O
D
).

2
В
тр
еу
го
ль
ни
ка

A
B
C
пр
ов
ед
ен
а
би
сс
ек
тр
ис
а
B
L
.

а)
Д
ок
аж
ит
е,
чт
о
S
(Δ

A
B
L
)
:
S
(Δ

B
C
L
)
=

A
L
:
C
L
=

A
B

:
B
C
.

б)
Н
ай
ди
те

A
B
,
ес
ли

B
C

=
9,

A
L
=

7,
5,

C
L
=

4,
5.

в)
Н
ай
ди
те

L
C
,
ес
ли

A
B

=
30
,
A
L
=

20
,
B
C

=
16
.

3
В
ну
тр
и
па
ра
лл
ел
ог
ра
м
м
а
A
B
C
D
от
м
еч
ен
а
то
чк
а
O
.
Д
ок
аж
ит
е,
чт
о

S
(Δ

A
O
B
)
+
S
(Δ

C
O
D
)
=

1 2
S
(A

B
C
D
)
=

S
(Δ

B
O
C
)
+
S
(Δ

A
O
D
).

4
а)

В
ер
ш
ин
ы
од
но
го
кв
ад
ра
та
ра
сп
ол
ож
ен
ы
на

ст
ор
он
ах
др
уг
ог
о
и
де
ля
т
эт
и

ст
ор
он
ы
в
от
но
ш
ен
ии

1
:2

,с
чи
та
я
по

ча
со
во
й
ст
ре
лк
е.
Н
ай
ди
те
от
но
ш
ен
ие
пл
о-

щ
ад
ей
кв
ад
ра
то
в.

б)
С
то
ро
ны

тр
еу
го
ль
ни
ка

пл
ощ
ад
и

1
ра
зд
ел
ен
ы
в
от
но
ш
ен
ии

3
:

1
по

ча
со
во
й

ст
ре
лк
е.
Н
ай
ди
те
пл
ощ
ад
ь
тр
еу
го
ль
ни
ка
с
ве
рш
ин
ам
и
в
то
чк
ах
де
ле
ни
я.

5
Н
а
ст
ор
он
ах

пр
ям
оу
го
ль
но
го

тр
еу
го
ль
ни
ка

по
ст
ро
ен
ы

кв
ад
ра
ты

(«
пи
ф
аг
ор
ов
ы
ш
та
ны

»)
.
И
х
ве
рш
ин
ы
со
ед
ин
ен
ы

та
к,
ка
к
по
ка
за
но
на
ри
с.

1.
Д
ок
аж
ит
е
ра
ве
нс
тв
о
пл
ощ
ад
ей

се
ры
х
тр
еу
го
ль
ни
ко
в.

Р
ис

.1
.

6
а)
То
чк
и
K
,L

,M
,N

—
се
ре
ди
ны

ст
ор
он
па
ра
лл
ел
ог
ра
м

-
м
а

A
B
C
D
.
П
ря
м
ы
е
D
K
,B

M
,A

L
,C

N
ог
ра
ни
чи
ва
ю
т
м
а-

ле
нь
ки
й
па
ра
лл
ел
ог
ра
м
м

.Н
ай
ди
те
от
но
ш
ен
ие
пл
ощ
ад
ей
па

-
ра
лл
ел
ог
ра
м
м
ов

.б
)
В
вы
пу
кл
ом

че
ты
рё
ху
го
ль
ни
ке
от
м
ет
и-

ли
се
ре
ди
ны

ст
ор
он

и
со
ед
ин
ил
и
их

с
ве
рш
ин
ам
и
та
к,
ка
к

по
ка
за
но

на
ри
с.

2.
Д
ок
аж
ит
е,
чт
о
пл
ощ
ад
ь
чё
рн
ог
о
че
ты

-
рё
ху
го
ль
ни
ка
ра
вн
а
су
м
м
е
пл
ощ
ад
ей
се
ры
х
тр
еу
го
ль
ни
ко
в.

Р
ис

.2
.

7
Ч
ер
ез
то
чк
у
вн
ут
ри

кв
ад
ра
та
пр
ов
ед
ен
ы
пр
ям
ы
е,
па
ра
л-

ле
ль
ны
е
ег
о
ст
ор
он
ам

и
ди
аг
он
ал
ям

(с
м

.р
ис

.3
).
Д
ок
аж
ит
е,

чт
о
су
м
м
а
пл
ощ
ад
ей

бе
лы
х
ча
ст
ей

ра
вн
а
су
м
м
е
пл
ощ
ад
ей

се
ры
х
ча
ст
ей

.

Р
ис

.3
.

10

Л
ис
то
к

7.
Р
ав
ны
е
пл
ощ
ад
и

1
В
тр
ап
ец
ии

с
ос
но
ва
ни
ям
и
B
C
и
A
D
ди
аг
он
ал
и
пе
ре
се
ка
ю
тс
я
в
то
чк
е
O
.
Д
о-

ка
ж
ит
е,
чт
о:
а)

S
(Δ

A
B
C
)
=

S
(Δ

B
C
D
);
б)

S
(Δ

A
O
B
)
=

S
(Δ

C
O
D
).

2
В
тр
еу
го
ль
ни
ка

A
B
C
пр
ов
ед
ен
а
би
сс
ек
тр
ис
а
B
L
.

а)
Д
ок
аж
ит
е,
чт
о
S
(Δ

A
B
L
)
:
S
(Δ

B
C
L
)
=

A
L
:
C
L
=

A
B

:
B
C
.

б)
Н
ай
ди
те

A
B
,
ес
ли

B
C

=
9,

A
L
=

7,
5,

C
L
=

4,
5.

в)
Н
ай
ди
те

L
C
,
ес
ли

A
B

=
30
,
A
L
=

20
,
B
C

=
16
.

3
В
ну
тр
и
па
ра
лл
ел
ог
ра
м
м
а
A
B
C
D
от
м
еч
ен
а
то
чк
а
O
.
Д
ок
аж
ит
е,
чт
о

S
(Δ

A
O
B
)
+
S
(Δ

C
O
D
)
=

1 2
S
(A

B
C
D
)
=

S
(Δ

B
O
C
)
+
S
(Δ

A
O
D
).

4
а)

В
ер
ш
ин
ы
од
но
го
кв
ад
ра
та
ра
сп
ол
ож
ен
ы
на

ст
ор
он
ах
др
уг
ог
о
и
де
ля
т
эт
и

ст
ор
он
ы
в
от
но
ш
ен
ии

1
:2

,с
чи
та
я
по

ча
со
во
й
ст
ре
лк
е.
Н
ай
ди
те
от
но
ш
ен
ие
пл
о-

щ
ад
ей
кв
ад
ра
то
в.

б)
С
то
ро
ны

тр
еу
го
ль
ни
ка

пл
ощ
ад
и

1
ра
зд
ел
ен
ы
в
от
но
ш
ен
ии

3
:

1
по

ча
со
во
й

ст
ре
лк
е.
Н
ай
ди
те
пл
ощ
ад
ь
тр
еу
го
ль
ни
ка
с
ве
рш
ин
ам
и
в
то
чк
ах
де
ле
ни
я.

5
Н
а
ст
ор
он
ах

пр
ям
оу
го
ль
но
го

тр
еу
го
ль
ни
ка

по
ст
ро
ен
ы

кв
ад
ра
ты

(«
пи
ф
аг
ор
ов
ы
ш
та
ны

»)
.
И
х
ве
рш
ин
ы
со
ед
ин
ен
ы

та
к,
ка
к
по
ка
за
но
на
ри
с.

1.
Д
ок
аж
ит
е
ра
ве
нс
тв
о
пл
ощ
ад
ей

се
ры
х
тр
еу
го
ль
ни
ко
в.

Р
ис

.1
.

6
а)
То
чк
и
K
,L

,M
,N

—
се
ре
ди
ны

ст
ор
он
па
ра
лл
ел
ог
ра
м

-
м
а

A
B
C
D
.
П
ря
м
ы
е
D
K
,B

M
,A

L
,C

N
ог
ра
ни
чи
ва
ю
т
м
а-

ле
нь
ки
й
па
ра
лл
ел
ог
ра
м
м

.Н
ай
ди
те
от
но
ш
ен
ие
пл
ощ
ад
ей
па

-
ра
лл
ел
ог
ра
м
м
ов

.б
)
В
вы
пу
кл
ом

че
ты
рё
ху
го
ль
ни
ке
от
м
ет
и-

ли
се
ре
ди
ны

ст
ор
он

и
со
ед
ин
ил
и
их

с
ве
рш
ин
ам
и
та
к,
ка
к

по
ка
за
но

на
ри
с.

2.
Д
ок
аж
ит
е,
чт
о
пл
ощ
ад
ь
чё
рн
ог
о
че
ты

-
рё
ху
го
ль
ни
ка
ра
вн
а
су
м
м
е
пл
ощ
ад
ей
се
ры
х
тр
еу
го
ль
ни
ко
в.

Р
ис

.2
.

7
Ч
ер
ез
то
чк
у
вн
ут
ри

кв
ад
ра
та
пр
ов
ед
ен
ы
пр
ям
ы
е,
па
ра
л-

ле
ль
ны
е
ег
о
ст
ор
он
ам

и
ди
аг
он
ал
ям

(с
м

.р
ис

.3
).
Д
ок
аж
ит
е,

чт
о
су
м
м
а
пл
ощ
ад
ей

бе
лы
х
ча
ст
ей

ра
вн
а
су
м
м
е
пл
ощ
ад
ей

се
ры
х
ча
ст
ей

.

Р
ис

.3
.
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к

8.
С
ло
ж
ит
ь
ил
и
ум
но
ж
ит
ь?

П
ра

ви
ло

су
м

м
ы
.
Е
сл
и
об
ъе
кт

A
м
ож
но
вы
бр
ат
ь
m
сп
ос
об
ам
и,
а
об
ъе
кт

B
м
ож
но
вы
бр
ат
ь
n

сп
ос
об
ам
и,
то
вы
бо
р

«A
ил
и
B

»
м
ож
но
ос
ущ
ес
тв
ит
ь
m

+
n
сп
ос
об
ам
и.

П
ра

ви
ло

п
ро

и
зв

ед
ен

и
я.
Е
сл
и
об
ъе
кт

A
м
ож
но

вы
бр
ат
ь
m
сп
ос
об
ам
и
и
пр
и
ка
ж
до
м
та
ко
м

вы
бо
ре
об
ъе
кт

B
м
ож
но

вы
бр
ат
ь
n
сп
ос
об
ам
и,
то
вы
бо
р

«A
и
B

»
м
ож
но

ос
ущ
ес
тв
ит
ь
m

·n
сп
ос
об
ам
и.

1
Ч
то
бы

до
ех
ат
ь
из
до
м
а
на
за
во
д,
то
ка
рь
П
ет
ро
ви
ч
ед
ет
сн
ач
ал
а
на
м
ар
ш
ру
тк
е
от
до
м
а
до

м
ет
ро

,
по
то
м
на

м
ет
ро

(с
пе
ре
са
дк
ам
и)

,
а
по
то
м
на

тр
ам
ва
е
от
м
ет
ро

до
за
во
да

.
О
т
до
м
а
до

м
ет
ро
хо
дя
т
пя
ть
ра
зн
ы
х
м
ар
ш
ру
то
к,
от
м
ет
ро
до
за
во
да

—
тр
и
тр
ам
ва
я,
а
на
м
ет
ро
м
ож
но
ех
ат
ь

по
ко
ль
цу
ил
и
че
ре
з
це
нт
р.
С
ко
ль
ко
ра
зн
ы
х
м
ар
ш
ру
то
в
на
ра
бо
ту
и
об
ра
тн
о
м
ож
ет
пр
ид
ум
ат
ь

П
ет
ро
ви
ч,
чт
об
ы
нё
м
но
го
ра
зн
оо
бр
аз
ит
ь
св
ою

ж
из
нь

?
2

а)
То
ка
рь
П
ет
ро
ви
ч
ра
бо
та
ет
на
ст
ан
ке

,н
а
ко
то
ро
м
ес
ть
че
ты
ре
дв
ух
по
зи
ци
он
ны
х
пе
ре
кл
ю

-
ча
те
ля

.С
ко
ль
ко
вс
ег
о
ре
ж
им
ов
ра
бо
ты

у
эт
ог
о
ст
ан
ка

?
б)

П
ет
ро
ви
ч
не
пе
рв
ы
й
го
д
м
еч
та
ет
о

бо
ле
е
со
вр
ем
ен
но
м
ст
ан
ке

,у
ко
то
ро
го
по
м
им
о
че
ты
рё
х
дв
ух
по
зи
ци
он
ны
х
пе
ре
кл
ю
ча
те
ле
й
бы
ло

бы
ещ
ё
тр
и
тр
ёх
по
зи
ци
он
ны
х.
С
ко
ль
ко
ре
ж
им
ов
ра
бо
ты

у
ст
ан
ка
м
еч
ты

П
ет
ро
ви
ча

?
3

а)
С
ко
ль
ко
су
щ
ес
тв
уе
т
ш
ес
ти
зн
ач
ны
х
чи
се
л,
де
ля
щ
их
ся
на

5?
б)
С
ко
ль
ко
су
щ
ес
тв
уе
т
на
ту

-
ра
ль
ны
х
чи
се
л
от

0
до

99
99

99
,в
де
ся
ти
чн
ой
за
пи
си
ко
то
ры
х
не
т
дв
ух
ст
оя
щ
их
ря
до
м
од
ин
ак
о-

вы
х
ци
ф
р?

4
В
С
Ш
А
да
ту

пр
ин
ят
о
за
пи
сы
ва
ть
та
к:
но
м
ер
м
ес
яц
а,
по
то
м
но
м
ер
дн
я
и
го
д

(н
ап
ри
м
ер
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